Svar till tentamen i baskurs MaC 060116
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	a) x1 = 2; x2 = -3

b) x = ln2/ln6 ( 0,387

c) x = (8/13)^(7/6) ( 0,568
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	a) -2

b) x = 1

c) x > 1
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	a) a1 = 7, a2 = 10, a3 = 13, a4 = 16
b) (två lösningar)

a1 = 5, a2 = 10, a3 = 20

och
a1 = -5, a2 = 10, a3 = -20 
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	maximipunkt (-1, 2)

terrasspunkt (0, 0)

minimipunkt (1, -2)
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	a) k = 2

b) x1 = 0; x2 = -2
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	x = -3 ger minimipunkt

x1 = 0 ger terrasspunkt
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	a) 194

b) 273912kr
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	Höj avgiften med 65kr




_1199174140.unknown

_1199174983.unknown

_1199175006.unknown

_1199174196.unknown

_1199174043.unknown

